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A man was assigned to find the average age of
a class of 13 students. By mistake, he included
the 35 yr old teacher as well and hence the

average went up by 2 yr. Find the actual average
age of the class.
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Section 1 - Paperl-English Language
No. of Questions: 10

Passage Questions (1-5):

Read the passage and answer the questions that follow:

Emma had gotten quite good at summarizing someone else’s life—but that hardly made a smudge
on the page of her own.

She hadn’t obtained a journalism degree in order to persuade the local department store to place
mattress sale ads in the Sunday paper, either. She was a reporter! A darn good one...if only
someone would give her a chance to prove herself. Emma longed to write a piece worthy of her
education and her skills, and frankly, preparing obituaries wasn't it.

“I don’t think | can do this much longer,” she confessed sadly. “Either Walt lets me write a real story
or...” She didn’t know what.

Phoebe gasped. “You aren'’t thinking of quitting, are you?”

1) What had Emma gotten quite good at?

A) Going to the department store.

B) Writing advertisement.

C) Obtaining degrees.

D) Summarizing someone else's life.

2) What was Emma thinking of doing?

Techofworld.In

A) Going to the department store.
B) Quitting her job.

C) Writing a book.

D) Starting a newspaper.

3) What chance did Emma want?

A) To be a reporter.

B) To participate in a competition.
C) To be a department store owner.
D) To be independent.
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4) What degree had Emma obtained?

A) Management.
B) Journalism.
C) Teaching.

D) Hospitality.

5) According to the passage, what hadn't Emma longed for?

A) Running a department store.
B) Waiting to study.

C) Preparing obituaries.

D) Writing advertisements.

6) Fill in the blank with the correct option:

The birds __over the chimney which had a big
»ur Techofworld.|

C) flew, flue

D) flu, flew

7) “Call someone names” means

A) praise someone's name
B) calling someone's nickname loudly
C) insult someone

D) explain something to someone carefully

8) Fill in the blank with correct prefix or suffix:

During the epidemic a large no of medics were deployed to handle a large number of
patients.

A) para
B) super
C) pre
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9) Which of the following words is correctly spelt?

A) exonerate
B) exhonerate
C) ecksonerate
D) exonarrate

10) Which of the following idiomatic alternatives best suites the meaning being "Become famous"?

A) Make a name for yourself
B) Make a case for yourself

C) Make a lame excuse for yourself Te C h OfWO rI d . I n

D) Make a channel for yourself
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Section 2 - Paperl-Education and General Awareness
No. of Questions: 5

11) The motion of a pendulum bob follows the motion of a simple harmonic oscillator. Which of the
following statements is INCORRECT regarding its motion?

A) Velocity and acceleration are always in the opposite direction

B) Velocity and displacement are in the same direction one half of the time
C) Acceleration and position vector are always in the opposite direction

D) Position vector and displacement are always in the same direction

11) <@ 69gRF 9Q @ 66 IR 2GR ANEAIRR, 6A6RTRR 95 2RI a6a | I 66 Faosa PANYS Aug cod T8 & 9R
266 ?

A) 6261 9Q° Qadl AR FARIG FA6Q 2AlAIT
B) araa 2l IG6Q 696 9e° SRIAR 99 AR F96a 121E

C) qaa e 36 saqe adel faate Gaea 212G

D) g6 saqa v dgias adal anip dasa 12T

12) Which of the following is not a power of the President of India?

A) Impose president's rule

B) summon and prorogue the sessions of both the House;reCh OfWO rI d 2 I n

C) power to grant pardons, respites, or remissions
D) return the money bill to the parliament

12) FORYE F1RIQ 6a6d aIee1a AIgads AFIGI FARIEA 216Q QIT 2

A) Q1806 Faq QIg *GQ!
B) ana q2a 28sear AR ver A0G ede)
C) aq1 seai@ 8061, YNGR V1 Gal s

D) eraeq 919! &9 620 ade!

13) On-demand Education is a facility available with the -
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Set Id : 62269_6 BATCHI1_D.ELEd. Odia_07NOV2020

A) CBSE

B) NIOS

C) CICSE

D) State Boards

5/41 —

13) ciRel-9ee a1 IR gau 216F, N 12l 986 AUNS 621NN -

A) @daq@
B) R2IRGIq
C) Guedwa
D) QI8 6916

14) In 1901, the conference of Directors of Public Instruction was convened by?

A) Lord Mountbatten
B) Lord Clive

osrracs | @Chofworld.In

D) Lord Curzon

14) ¢ coeeq, QIREARSD AT IR AAYFRA AFes! ILIT QI 2ICAITS 62ARYR! -

A) od ISR
B) ad Qa9

C) aiq 216619,
D) #¢ @sie

15) To promote general and elementary education, the National Policy of Education (1986) was
responsible for the set up of

A) Vishwa Vidyalayas

B) Navjeevan Vidyalayas
C) Navodaya Vidyalayas
D) Nai Taleem Vidyalayas

15) aried v& 9INAR dsig 69016 edel aill AIFIA dal @16 (e ¢r) wIa gaas aisl ia

A/UVVILIVAM MAPYEY L UL LVAIULIRL 1 0U00 11U VIVUD 1L LAl WULOUWUVILD)y L1 NUUNDy LYULLD \1L w1y NoLILAN LICLIOC
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A) F9RNIRAER

s e | €CHOTWOTrId. IN

C) @eQiea ANIPAAGR
D) Q¥ 6IRA @IRAGRR
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Section 3 - Paperl-Reasoning

No. of Questions: 5

16) How many letters are there between 20th alphabet from the right and 9th alphabet from the right,
when letters are arranged as per the alphabetical order?

A) 10
B) 11
C) 12
D) 13

16) 6a606ae m@%]_@q Q4RI QAEH ARIAN, VIV 906N ad Ie* AIRIEQ ¢A of AR ERERIT 280 AR ?

A) eo

s | @chofworld.In

C) ey
D) em

17) In a certain code language, if the word ALONE is coded as 12345 and BASIC is coded as 61789,
then how will the word CLOSE be coded in that language?

A) 92475
B) 93415
C) 92375
D) 91238

17) 9@ 784 6aiq aiai6e, 9@ ALONE e ¢ 9nx 8 ve» BASIC, veor ¢ aigsa caie. @9l 62108, 606@ 6a2 auaisa CLOSE
420 Q @ad sale QAIDS ?

A) ¢9%¥98
B) caises
C) ¢9nos
D) ¢e9ar
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18) In the following questions, mark:

1, if statement | alone is sufficient to answer the problem.
2, if statement |l alone is sufficient to answer the problem.
3, if statements | and |l both taken together are sufficient to answer the problem.

4, if statements | and Il taken together are NOT sufficient to answer the problem.

What is the cost of 10 apples and 6 mangoes?
I. The cost of 5 apples and 3 mangoes is ¥ 80.

Il. An apple costs more than a mango.

A) 1
52 Techofworld.In
D) 4

18) GONGYC ggaeesn 636 909 :
0. 9@ FRQ4 | anaie QARQ caaIg K62 AT |

9. 98 Y4 Il ¥gdal anya AR caeIg 6] 2ET' |
0. 96 QX6 | 9 Il anag 90 H2189 6060 ANAIQ ARA 62! Ale! AYG 266 |

¥. 96 QA6 | v Il anag 9eI0 FaIde 606 & anaia AR 6ol At adug Q6% |

R 0G 646 9e* 9T AUINQ N 660 ?
l. 8§ eaeer G ara I ro|

Il. 6q16 66 M 2ROIQ 2TR AEE |

A) ®
B) ¢
Cc)M
D) ¥
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19) Ravi parkash walks 12 m from his office to reach the canteen. Then he turns left and walks 2 m.
Then he again turns left and walks straight for 12 m. How far is he from his office?

A)10m
B)12m
C)8m
D)2m

19) 6@ geI9 OIF ATIFOQ MIRRER ALTR QIR €9 ASQ IR @& AIRAIS | GIT6R 6Q AN A 9 FcQ NG | F16R 6Q Q8 QNG
QR QuI 0 9 AeQ GING | 6Q OIF AITILAOIQ 6R6C QN6 RS ?

A) eo @.

B) ¢9 4.

ore. | @Cchofworld.In

D) 9 &.

20) In the following questions, mark:

1, if statement | alone is sufficient to answer the problem.
2, if statement Il alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and Il taken together are NOT sufficient to answer the problem.

What is the average age of the two new students who joined the group ?
I. The average age of a group of 10 students, who were there previously was 100.

Il. The average age increased by 2 years when two new students joined the group.

A) 1
B) 2
€)3
D) 4

20) YINYC 9998960 530 Q03 :
0. 25 394 | anQyia AR 629Ig B62a 26T |
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Q@ Q94 |l ¥gGa anAia ARA 629IQ Acaq 26T |
0. 26 FQE | v || 2e9ag QI0 FUTS 6060 ANAIQ AR 6291 Al AYF 26E |

¥. 9@ @R | ver |l aeaq 90 F218e 6669 B ANAY ARA cae! Al adig Qe |

QREA 6419 6RRTAR QN FOR VYT AQIVR @AQA 6QEE ?

l. eo g6 aIg g IR 2Ra AR @0QA e oo, CAVFIIER 6Q0IER 9IQ A6M |

Il. 20 QOR BIg ARER 6AIFERRN A6R ARG @0A 9 @d Q8 AR |

>
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Section 4 - Paperl-Teaching Aptitude

No. of Questions: 10

21) What is the percentage of seats which private schools have to reserve for students coming under
the RTE act?

A) 30%
B) 45%
C) 25%
D) 20%

21) 2166Q UNFON UTRER UYL S IRIee aiel 6060 60! dIe asqIR éowm%l@q TG RRQUQ AGR ?

** Techofworld.In
C)9g %
D) 90 %

22) A complex process by which learners are provided with a deliberately designed environment to

interact with, keeping in focus pre-designed objectives and bring about desirable change is referred
to as

A) instruction
B) learning
C) reading
D) training

22) aaidhnieg 99-08eF80 26241 IR6a a4 1 AIRPE0 08906 21891 AIR 02l Y@ 9650 0aeEe 0fe9d QR0 6QITIEAIT @EQ!
IR 698 25R JRA ML FAIAINAN, VIR QRlIAN |

A) Gsda
B) agel
C) A
D) QIR
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23) What does DIET stand for?

A
B
C
D

Direct Institute of Education and Training
District Institute of Evaluation and Training
District Institute of Education and Training
District Internship of Education and Training

N S — —

23) duead (DIET) 6aad ael 9406 29°?

A) QIR60R BQ.LYQ AT IERAR 18 657°
B) $8Q 03,949 AT ARIPIER 98 685°
C) 58] 98,549 AX IFERER I8 657°
D) 38R ARa419 A% Ig6RaR 948 655°

24) Who strongly advocated that purpose of education is to let the individual grow in complete
harmony with nature without any sort of interference from society?

A
B
C
D

Dewey

asote | €CHhOfworld.In

Plato
Rousseau

N S — —

24) aiee 62163 gRIa 29689 998 NG 9P ABe T ANQA FRIRAIQ 62 6207 JVIQ RERGY, IR AR 9 9Q
candem ?

A) 6@

B) zidsaica
C) quss!

D) qsal

25) Passive learning takes place in

A) Project method

B) Discovery method

C) Lecture method

D) Problem solving method
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25) 3§0 496 1@ aabea 621RaI

A) 9o8 088

B) daia a8d

C) zuiaq 08

D) @AQyl aqaiie 989

26) Which of the following teachers is supporting children's hypothesis formation as a first step to
create concepts?

1. Teacher A gives his students a bucket of water along with some objects and asks them to identify
the objects that can float in water.

2. Teacher B gives his students several books and asks them to read the books and find out about
the concept of floating in water.

3 Teacher C asks his students to watch a movie in which some characters are living in floating
houses and asks them to describe floating concept.

4. Teacher D conducts a series of experiments to teach the concept of floating and then explains to
his students what floats and what sinks.

A) Teacher A
B) Teacher B TeCh OfWO rld » I n
C) Teacher C
D) Teacher D

26) FIAYe JARAFR° FRIQ @9 QS q@, QAQIQ AN IPEIU NEQ TNIAIRR°Q QARFR! F0RQ aiy
@Qae8?

. 38Q @ @qu?hq @2 g 2290 4R QNG QId F23 ¥ Ad6a 6RWAQ 9g WIAGR 6AgFQ 526 *EIQ 6ANRT QL3 |
9. 38R 6 OIF SNIAIG AR Q2@ HUB Y 6ANIRG @2 APIQ Y& AIfisa AARIR A0S FaA6a RIEIQ Qo3 |

0. 38 @ 018 SQUITIG ¥e 0REe YR IS Q28 6AU26R B3 989 NANIP AR A FaB I CATIRT AAAIR ANNER 4Rl FAAQ
Q28 |

¥. 38R @ QUAAIL 24l QR I LR AVIVE 293 IS° 01I'06Q OIF @O'ﬂ&hq @'¢ QUdaN e @'8 98U QIRl 8IS |
A) dse @
B) 88 &

C) 8% @
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D) dise @

27) Repetition, practice, rhythm, mnemonics are techniques used to enhance

A) memory
B) perception
C) attention
D) muscles

27) 9eQIQR, zauia, o160, 0 ALAR (Gen1ae) 620

Q8 aid ege 6914R |
A) 99
B) agaigee aie-ainely Te C h OfWO rl d - I n
C) ue
D) erasa

28) Mita who is in class VIl is very good at cooking. When she was asked to describe how she made

chocolate donuts, she missed two steps. But when she made it in front of the class, she made tasty
donuts. What went wrong with her memory?

A) Her procedural memory did not translate into verbal memory.

B) Her episodic memory was faulty so she could not remember a few steps.

C) Her procedural memory was short term and her episodic memory was long term.
D) Her episodic memory was long term memory so she remembered how to do it.

28) agq 694160 99aQl ol 920 AR CICAR F0E | 6ACEEIER OIF 62 AR PERIEAG 60IRG SR F6R IRl 4RI RARIQ QRTR,
64 Qa6 6QIUIR 21G66R | B 6606RER 6 I2IQ 6941 AR FUQR R6R, 6ICEERER 6Q TR 62IRg F2IA Q6A | SIFA AT
Q6 QR 62l ?

A) oI5 ggaise go eAige go6a 2QRIQ 62ARRLA

B) cica wasaide g6 @894 ARl 604¢ 62 @8 6QIAIR A6 QyaAIRER FIF
C) oIea ggalee go a@fald e 1deade 9o QHIAINR R
D) olsQ 1d6a@e g6 1dRINIe g6 Rl 664 62 21 FAA @56R Gl AR ANINER

29) The best method of teaching English language in India is the

A) Translation cum Grammar
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B) Direct Method
C) Indirect Method
D) Dr. West Method

29) RIAGER R°AUR1 FA JLIAQ 6§F ARGT Q4 ?

A) 2910 Gall QYIQaE ’ﬂ?mTeCh OfWO rI d " I n

B) goua a&d
C) ageya aad
D) ¢. 6a] a&d

30) Teacher enters the class and ensures a daily entry routine. Which of the following activities might
she be performing?

A) Preparing learning material, punishing a student, giving a test

B) Preparing learning material, punishing a student , giving home work

C) Preparing learning material, making seating arrangements, passing home work
D) Punishing a student, making seating arrangements, passing home work

30) @66 2rUAR 646160 F6RE @3 IS gEIR IR AL g6Rd AR IRFC *ad| FgAYe mﬁqemﬂﬂ@@ oRIQ 6Q 6296
QARG ?

A) asa angl @RIRS!, 2109 @€ 629!, A8l @GR!

B) asa angi QLIRS 219 24 6o, G2 QIY s

C) asa angl QAIRQ, e3Q uegl @del, R QI diq «ael

D) eca 2109 @4 629, *AAA MY *QQ, YL Q1Y diq «ael
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Section 5 - Paperll-Odia Language

No. of Questions: 15

31) 6915\ RITIQ YFYFR F64TE TN 6L ART P28 FAUAI, FIIQ '€ QRIANI?

A) yaeRIe
B) qiqy amie
C) ga qaie
D) a0 QmIe

32) ‘aqIQial’ 9064 629 QAAG MY ?

A) 9

B) 9@
C) ea
DEL!

33) 6diaml J2AQ VG QIZ — 90I6Q 68IaRI @ geiq ae?

A) Geaay TeChOfWOl"d . I n

B) Gcaad
C) gl
D) a1qugl

34) ‘uge’ 9ea FUQIGICIERIRIS 60 QI8 |

A) age
B) 29e
C) e
D) gis®

35) F69I9 AIQ 694 RAAGT ATQ A9 QI AT FXIRAN?

Page160f41
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A) 2
B) a@
C)a

D) aig

36) A6V AR 6RQT IR GOR SR?

A) ad
B) aig
C) e@ie1
D) qiay

37) ‘geq1a’ 20Qd g dR6a 69 AIQ Q490 ?

»s Techofworld.In

C)®
D) @9

38) ‘cidal uael’ 9FF 6ed A0 |

A) g
B) @&
C) zrue
D) Zi6qIe

39) ‘qal gidiar’ 2dq 48 @RI 9F Fead x|

A) 2ral gidiel
B) @@ 9@
C) 2a6 6Q1ae
D) 2ea Al
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40) QINQ GERUR 2GR @'l @RI ?

A) a9
B) Qai
C) ae
D) 2ga

41) ‘caade’ ana SAQIGITCARIR 4o @i |

A) giqée
B) aeide
C) ]8¢

D) s3&iRe

42) 6a167 99Q QIGR 96 A IQ° QIFQ AT AR 626M BIY 6 QRAAN?

nese  Techofworld.In

B) sdide e
C) saisige @
D) 6@ a9

43) ‘uig’ adea ‘9’ goa QARSI aREq QI8 |

A) 8909
B) alaqa
C) asa@
D) 96710

44) 'gge1 9AY SIRAES QM I' YOIER G ALT 60 FLR Q1R QRIQ?

A) 2016 QIR
B) qaqie QI
C) @@aye QIe
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D) Q¢ Qe1IR Q16

45) ‘caienia’ 40a AR 4R QIR |

A) s6IRIRIQ 9
B) 98

0w |1 €Cchofworld.In

D) aaeie
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Section 6 - Paperll-Mathematics

No. of Questions: 15

46) If 3x - 5=2x -5, then x =

A) 0
B) 1
gy2
D)3

46) 2@ 3x-5=2x-5, 6060 X =

A) 0
B) 1
c)2
D)3

47) What is the circumradius of the right angled triangle whose base and height are 7 cm and 24 cm
respectively?

2o Techofworld.In
D) 15.5cm

47) 9@ A06IaN §@aa 0a8 6@60 629 QIR0 §F I 090! QaIREN 7 6af e 24 6ad ?

A) 14 6ad
B) 12.5 ead
C) 15 6qd
D) 15.5 ¢ad

48) What is the least number, which leaves a remainder 4 when divided by 6 and leaves a remainder
5 when divided by 77?

A) 40
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B) 42
C)45
D) 47

48) 64 REY A°HMIT 6adT, AILIQ 6 22 s REM QIGcas 4 as2 IQ° 7 Qlol fId REM aIssas 5 ase ?

A) 40
B) 42
C)45
D) 47

49) The difference between the compound interest and the simple interest earned in 2 years for an
amount of ¥ 10,000 invested at a certain rate of interest is ¥ 225. What is the rate of interest?

A) 10%
B) 15%
C) 20%
D) 25%

49) e 59q gy eiesa T 10,000, 2 od Al F6ad 621R 186a R8I Q98 Qu 8 0 QM e aidiey 628 T 225 | 606e
QU 210 6960 ?

o Techofworld.In

20%
25%

A
B
C
D

— —

~— S

50) The ordered pair satisfying the equation 2x -y =2 is

1,2
2,2
21
1,1

,

O

8082
A~~~ A~
N N S S

50) 2x - y = 2 anieadq A0R @die8el @AIGe 6aId 6208
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C) (2,1)
D) (1,1)

51) What is the area of the scalene triangle whose sides are 7 cm, 8 cm and 9 cm respectively?

A) 125 sq.cm
B) 16V5 sq.cm
C) 18V5 sq.cm
D) 8V5 sq.cm

51) ue 8a0QIg 590 6HTR 6966 620 AIPIR AIYaEe aaIgsn 7 6ad, 8 6af 1o 9 6afi ?

A) 1275 od 6afl
B) 16V5 ed 6ad
C) 18V5 ed safl
D) 8V5 «di 6ad

52) What least number must be subtracted from 1,936 so that the remaining number when divided
by 9, 10 and 15, leaves a remainder 7 in each case?

A) 32

s 1 echofworld.In

C) 46
D) 39

52) 1,936 Q 6ad RAY A°HMIQ TR zieaie, DI Qo 6AYQ FRYQI zeda sy 9, 10 e 15 Qial Fas FAITER
60400 QIG6ae 7 Q@9 ?

A) 32
B) 53
C) 46
D) 39

53) A washing machine with a marked price of ¥ 15,000 is on offer at a discount of 5%. What is the
selling price of the washing machine?
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A) % 14,000
B) % 14,250
C) 14,500
D) % 14,750

53) e aRende ade gau T 15,000, aiel agsa 5% Gei6a 2aq 028 | 6062 GAFENARR 32 A 6RER 629 ?

A) % 14,000
B) % 14,250
C) 14,500
D) % 14,750

54) The first two numbers are more than the third number by 30% and 60% respectively. What is the
ratio of the first two numbers?

v Techofworld. In

C) 14:15
D) 15:16

54) gan 9ad el o1 @aoR a21gen 30% e 60% e | 6669 92N Q0T PHIR AQAIC 66O 629 ?

A) 13:15
B) 13:16
C) 14:15
D) 15:16

55) The representation of the set {x:x is a letter in the word 'PAPER' } in roster form is

A) {P,A,P,E,R}
B) {P,A,E,R}
C) {A,E,R}

D) (P,A,E,R)

55) 6ae {x:x 6208 'PAPER' ¢6a Q! 4 280} @ 2008 60191 760 6208

A) {P,A,PE,R}
B) {P,A,E,R}
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C) {A,E,R}
D) (P,A,E,R)

56) What is the least number that should be added to 6,850 to make it a perfect square?

A) 29
B) 30
C) 32
D) 39

56) 1@ g4 @d @del aidl 6,850 6a 6a¢ ATV A°HIT § 6216 FAITR! APEIR ?

A) 29
B) 30
C) 32
D) 39

57) If the distance between the centres of 2 circles of radius of 3 cm and 5 cm is 18 cm, then what
would be the length of the tranverse common tangent to the circles?

) A) 4V65 cm

a2 Techofworld.In

D) 5v12 cm

57) 3 eafl 9e* 5 6afi euiais 888 28 Qoa 69298 AEa Qa0 9818 6af 24, 6669 REYLRN AIGE GITINR AN 6QEE 621 ?

A) 465 cai
B) 265 cad
C) 4V60 ca
D) 5V12 ¢ad

58) A bag contains an amount of ¥ 864 in the form of %1, 50 paise and 10 paise coins in the ratio
4:5:7. The number of 50 paise coins present in the bag is

A) 480
B) 600


https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World Whatsapp/Call- 8596976190

Set Id : 62269_6 BATCH1_D.ELEd. Odia_07NOV2020

C) 840
D) 960

58) e quasa ageia T 864, X 1, 50 aeal e 10 aeal 9ol aeiesa 4: 5: 7 2901060 028 | 6069 Quiasa QI 50 agal
goIa Tl 6208

A) 480
B) 600
C) 840
D) 960

59) If two sets X and Y contains 4 and 5 elements respectively, then the minimum number of
elementsin XU Y is

A) 4

B) 5

C)8

D)9

59) 2@ 9@ 6ac X ¥e* Y gaigen 4 9o 5 aaqie e @a8, 606e X U Y ¢a AT AL RUQRGEFR 6208

>: Techofworld.In
C)8
D)9

60) Square of a positive number added to twice the number results in 255. Which is the number?

A) 12
B) 14
C) 15
D) 17

60) IR URIAR A°HIQ QG I9° 69T AR YRANG TR 78I FER TRITR 255 629 | 608 T 6966 ?

A) 12
B) 14
C) 15

DAanaNEAfAA
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No. of Questions: 15

61) What is "EI Nino" with respect to the climate pattern on the surface of the Earth?

A) A volcanic eruption

B) A warm ocean current

C) A sea storm

D) Another name of typhoon

61) adae gelag NRLQ gast gasa "El Nino" @ 2181 ¢'a?

A) 9 2i6qaaa aqsee

B) we ag Q91 9QI2
C) 9@ QInae QIeu

D) ciagea 2G4 9@ qin

62) Select the CORRECT order of the layers of the Earth - from outside to inside.

A) Crust , core, mantle

B) Crust, mantle, core TeChOfWO rld . I n

C) Mantle, core, crust
D) Core, crust, mantle

62) qgaea QQQ_@QQ Q0e @Y Qigg- Riq fea 2P

A) @R, 6219, AIGIM
B) 9@, A9, 621Q
C) aigim, 6919, PR
D) 6219, 9QR, AI9IN

63) From which country was the 'ldea of Concurrent list' in the Indian Constitution borrowed from?

A) Ireland
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B) Canada
C) Australia
D) Japan

63) Q1061 AAIFER ‘AN GIRRIR FRIQ’ 6RW 6Q9Q ASIAIRYRI ?

2N
@ Qe

2egmell
@A

A
B

C
D

64) Which among the following options is known as 'Old Stone Age' that is the prehistoric period in
the early development of human beings?

A) Chalcolithic Age
B) Mesolithic Age
C) Palaeolithic Age
D) Neolithic Age

64) FANYS FRAYER AUIQ 62AT ‘YAISR 2R I’ NIAEA FEIGH, QIR AR JIORAR IR FIPTR QR
2166'?

A) ORERIMIYR o

B) sr6aima 9o TeChOfWO rld . In

C) Qi6nBamaR 9o
D) qemaR 99

65) The term Zaid which refers to cropping season is mainly used in

A) Saudi Arabia
B) Egypt

C) India

D) Iran

65) siae 90 FAN RITAIQ () aeq exN, AIRIA guve YT QIRER 1ege 29
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A) Q191 ziee
B) a&ag

C) auee

D) eqie

66) Which layer of the Earth is made up of liquid metals including iron, nickel and sulphur?
A) Outer Core

B) Mantle

C) Crust

D) Inner Core

66) g8eia 6ed 300 6al2, FERR I G9e A6 GaR AIQEa G906 ?

v Techofworld.In

C) gga
D) aizs6q1a

67) The Comptroller and Auditor General of India audits the accounts of

A) Centre
B) States
C) Centre and States

D) Centre, States and the Union Territories

67) @6sling I 2BER 6R6RAIA AT Q82 N2IQ ARIEE AT 263
A) 6a24

B) asig@ea

C) seg ve 0egQRQ

D) 694, Qg4 9 6249130 PeRa

68) What does Article 19 in the Constitution of India state?
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A) The operation of the legal system that promotes justice, on basis of equal opportunity
B) No child below the age of fourteen years shall be employed to work in any factory

C) Untouchability is abolished and its practice in any form is forbidden

D) Protection of certain rights regarding freedom of speech

68) aiees afdiea dIal @ ¢ RILIY Q4N ?

) URR MYGIQ QIduIQl QIR QAR 464dia 2RIIEQ, YT SQIQIQO

) 929Qq 2f ada NG 6Ed & FIAHIFIER R FAR VIR FEARS 94l @ AR
C) ageuel on 9o IUQ 65163 JRIQQ RILLIQQ G

)

QIR ARG ANB6ea FELC eI gas

69) The imaginary lines of longitude that run around the globe are divided into how many degrees?

A) 360 degrees

Bi 380 degrees TeCh OfWO rld ® I n
)

C) 179 degrees
D) 90 degrees

69) 2daIe @8Rl 6asI QIR AL AR QRN GI2! 660 BYIER AN ?

90 Qg
o @g
RO @9l

>

Y
3 3

C

D) Co Ggt

70) What was the name of the first mass movement started by Mahatma Gandhi?

A) Champaran Movement

B) Non Cooperation Movement
C) Quit India Movement

D) Salt Movement

70) A9 QNS QA 2R CRARYQ! JAN FR LRI QA @& 2RI ?

A) AR LIRS
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B) 21qg6ie 2I6R18%
C) @1ee 812 2I6RIee
D) aes QaNIg@

71) In the history of medieval India, Prince Khurram was the original name of which Mughal emperor?

A) Aurangzeb
B) Jehangir
C) Humayun
D) Shah Jahan

71) ARIGAIE QRS RGLIAEQ TG YA 629 67IGR ATITFR 7R K171 R 2

nawse T @achofworld.In

B) qiesra

C) gaige
D) sie @I9iq

72) The Declaration on Global Climate Change and Biological Diversity, 1992 endorsed

A) Global Forest Principles only

B) Global Forest Principles only and adopted Agenda 21

C) Global Marine Life Principles and adopted Agenda 21
D) Global Marine life Principles only

72) 84910 99919 9096 I& 6870 §8u6!, 1992 caINaIRIAIR AREAINR QAIARI

A) 6999 32010 FEIR 16

B) 6@9® 349410 SGR A10 16 16REI 9¢ @ G248 FAIGRI
C) 49010 QTR §197 G160 I° 96881 9 ¢ @ G2¢ RAUAR
D) 6a9@ G¢aaia AIYIR K196 @16

73) Which of the following options are TRUE about the members of the Rajya Sabha?

A) The members should be at least 35 years old

Page310f41
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B) President of India nominates 14 members to the Rajya Sabha
C) President of India nominates 12 members to the Rajya Sabha
D) Nominated members are not entitled to vote for Presidential election

73) GqRge Fe8gFe FIQ 6QUE AIRIANIA ALAAING STAER AGY 266 ?

A) AYAIFIER ATRNEQ ME @ 6291 AR

B) VAR QI§€1§ QARIANER ¥ V6 AYAYG A6RIRN1E RS

C) WX QIgO@ QURYIANIER € 9 R AQAYG ARG RS

D) AERIANG AQQIAIER AUIAQ FROR AR ENIE 6QIQ AR AAB FID

74) The Arctic and Antarctic Circles are the imaginary lines of latitude that lie at

A) 0 degrees N and 0 degrees S of the Equator respectively

B) 90 degrees N and 90 degrees S of the Equator respectively

C) 66.5 degrees N and 66.5 degrees S of the Equator respectively
D) 23.5 degrees N and 23.5 degrees S of the Equator respectively

74) udte & urodde QRYGR 62ABT zsran eeql caul Al 106 ARG

A) gneasia aaigen o gt N ge o @g1 S T h fW I d I
B) gaucadia caigen ¢o @gt N e ¢o Gg1 S e C O O r a n
C) 9aueasia aaigen 99.8 @g1 N wer 99.8 891 S

D) gausasia aaigen 9n.8 @1 N wer 9n.8 Gg1 S

75) Which movement demanded 2/3rd of the produce from land for themselves and 1/3rd for the
landlord?

A
B
C
D

Eka Movement
Champaran Movement
Salt Movement
Tebhaga Movement

N N S S

75) 64l 2icaiensa 88 QQIGR 9 /M aia §e aldl 9e* ¢ /N i FAQIAR° aid QIS eaiaiedal ?

A) <9 ZiERIRS
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D) 6666l ZI6RIRT
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76) Which among the following statement is applicable for the given reaction? Given: Zn + CuSOa
— ZnS04 + Cu

A) Displacement reaction and Zinc as oxidizing agent

B) Displacement reaction and Copper as reducing agent

C) Displacement reaction and Zinc as reducing agent

D) Double displacement reaction and Zinc as reducing agent

76) 99@ 960l aie f9Age YA A 6add gget ? 49 : Zn + CuSOs — ZnSOas + Cu

A) QIae QIQER A0AE 9T 1° P

B) 3010 aiesa 2AAQE JEQ e on
C) QaIee QAIQER AAARE 9O Ie° O,

D) Geiae QI6a § 20908 g8 9e° B

77) Which among the following state of matter is present in CFL lamps?

Solld

st 1 echofworld.In

C) Gas
D) Plasma

m FRYe 2QY FrIQ 625 TR (CFL) MIea @age & ?

A) @08
B) 6a
C) suia
D) QR

78) Which of the following is a scalar quantity?
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A) Velocity

B) Speed

C) Force

D) Displacement

78) GORYS AIQ 60QG IR 279 QR4 268 ?

A) 0Q6a4
B) eaql
C)ag

D) Qaiae

79) Bacterial cell wall is made up of

A) Cellulose

aween 1 €chofworld.In

C) protein
D) Phospholipids

79) QIRIg 6218 giIo1a ¥@ea d2Id 6RINAN

A) 6agenix

B) qseq

C) 69i5Q

D) aaeariddeq

80) Which of the following plants have reticulate type of venation?

A) Neem
B) Banana
C) Grass
D) Wheat

80) GeqIe afeg@e MmIQ 6aetER FIMAIY geiea AQUIKYIQ 28 ?
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A) @2
B) @a@
C) 2@
D) eeq

81) What is the change is oxidation number of KMnO4 when used as an oxidant in acidic medium?

A) Increase by 5
B) Reduces by 5
C) Reduces by 3
D) Increases by 3

81) zeya ArIdea 23ers aIeea 2iege s26n KMNO4 & 2§60ar Taica @'a JQQRR 629 2

o Techofworld.In
C) neiagq
D) M8 g9

82) What will be the correct arrangement of increasing vapour pressure over the given liquid
surfaces?

A) Diethyl ether > Ethanol > Water
B) Water > Ethanol > Diethyl ether
C) Ethanol > Diethyl ether > Water
D) Diethyl ether > Water > Ethanol

82) 9o 99% 98 296Q QI90Iaq 98 @A%I QIR 6296 A0R 4L 629 ?
A) GIR2IOR KA > QRULR > OF
B) 8% > Q2Iea > 2I92Ian K2

C) QaIaq > IR0 K2 > 9F
D) QI02IR 2 > 8% > QR

83) Momentum is a vector quantity and it is the product of its mass and
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A) gravity

B) acceleration
C) velocity

D) torque

83) Q°6Q0 62R8 U@ 6QQA AR YQ° Y2l FRQ 9LR YL° Y2IQ AYR 26T

A) geaiads
B) Qasl

C) a@saq

D) 6@ @l 2194

84) The procedure in which amniotic fluid is removed from the uterus for testing or treatment is called

A) Widal test TeChOfWOrId ; I N

B) Aminocentesis
C) Pleural fluid test
D) Syphilis test

84) aeial a1 63al aif adiaaq AINFETR FRL 9Igie *aIIRL 08dq Q@IaN |

A) Geim 66Q

B) a10Q66264dQ
C) qein g 669
D) 3aRQ 691

85) Who among the following concluded that All cells arise from the pre-existing cells?

A) Robert Hooke

B) Jacob Schleiden
C) Theodor Schwann
D) Rudolf Virchow
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85) Aqage cug @4 318 62083 6d ANG 6RINYER J9Q FAIR 49 6RINQERQ AR ge@ ?
A) 696 2@

B) Qisqie dReee

C) 48eq age

D) g6@lig dase!

86) Which one of the following statements is TRUE with reference to Monocots?

A) Monocot leaves have reticulate venation
B) Monocot leaves have parallel venation
C) Monocot plants have tap root system

D) Embryo bears two cotyledons

g6) SAIERIERITY ALAEA SANYE FRIQ 698 FRRET AGY AUCT' ?

A) 6RI6RIERIC, IEYERER SIRAA FAITFYIA 2T
B) 6qi6ricaic 06gEa6a adisa daldaiid 28

Techofworld.In

C) erericric ateqdaca 21dge Qieai 28
D) @6 Qa6 Q1eag UIQd R8I

87) What will be the volume occupied by Oz gas if 8 g of it is added to 16 g of it already present and
occupying a volume of 150 L under similar temperature and pressure?

A) 165 L
B) 172 L
C)225L
D) 128 L

87) O2 auia QIol 28 62102l adiIé 6a60 620 9 veIa 8 gin 16 gin A26 6aI@ 621RAIGE e AAIR cIanIgl e qaea 150 L
Q TRIE QR RAB ?

A) 165 L
B) 172 L
C)225L
D) 128 L

Page38of41
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88) A rifle fires a bullet of mass 25 g with a velocity 1600 m/s. The man holding it can exert a
maximum force of 160 N on the gun. How many bullets can he fire per second at the most?

>

022
aAwN

88) U@ Q9@ 25 g 6a9Q Y@ g@q 1600 m/s 9Q6Qaea Fod | ¥2Iq §AeQl Q48 @9« @a6a 160 N @
QIR AR YIS RAAIGER | 6A6RG 9T 626015 R I ARAIRR ?

)2
i Techofworld.In
)5

89) The portion of the DNA double helix that provides structural support to the molecule is called

A
B
C
D

Phosphate backbone
Hydrogen bonding

Complementary base pairing rule
Helicase

89) QI QAR 62NGa 2ra Il 2gQ S0P ARIAY 6N QIRIQ Qelan |

A

B
C

D

TLETQ QUIRERIR,
R6LIERR o

@HErIN 6Q9 6TUGE 99\

CRNERR

— N S S

90) Which of the following cell organelle is responsible for the protection of cells against hydrogen
peroxide?

A) Nucleus
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B) Peroxisomes
C) Ribosomes
D) Plasma membrane

90) AgAYe 6am 2GIERR A2IQ 60UE NCRIEHR CANFINE 0l CAVYFR adI ale Qe ?

A) 91@,\@9

o= | @chofworld.In

C) IaeQIeaIn
D) eI 67688
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| Question Paper No: | 62269_6

Answer Key:
TechoﬁNoﬂdIn
1 (D 61 | B
2B 32 C 62 | B
3[A 33|B 63 | C
4| B 34 | B 64 | C
5|C 35| A 65| C
6|C 36 | B 66 | A
T |C 37 | € 67 | C
8| A 38| A 68 | D
91 A 39 |C 69 | A
10| A 40 | C 70 | B
11 A 41 | C 71 | D
12 | D 42 | B 72 | B
13| B 43 | A 73 | €
14 | D 44 | B 74 | C
15|C 45 | B 75 | D
16 | A 46 | A 76 | C
17 | C 47 | B 77 | D
18| A 48 | A 78 | B
19 | D 49 | B 79 | B
20 | C 50| B 80 | A
21 |1 51 A 81| B
22 A 32.|D 82| B
23 | C 33| B 83 | C
24| D 54 | B 84 | B
25| C 55|B 85| D
26| A 56 | D 86 | B
27| B 57| B 87| C
28| A 58| B 88 | C
29| B 39| B 89| A
30 |.C 60 | C 9 | B

Download App- For Mock Test, Previous Year Questions, E-books, Notes (PDF) Click Here


https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

